
B
TYPICAL BRIDGING

A
EXTERIOR WALL ELEVATION

H
TYPICAL LOAD BEARING TOP TRACK

B

CD

GG

H

F F

HORIZONTAL BRIDGING NOTES:

1.  HORIZONTAL BRIDGING REQUIRED AT 4'-0" O.C. SPACING:

a. ALONG ENTIRE HEIGHT OF ALL EXTERIOR AND LOAD BEARING WALLS

UNLESS NOTED OTHERWISE.

b. STUD KNOCKOUTS MUST ALIGN HORIZONTALLY FOR THE

BRIDGING TO THREAD CONTINUOUSLY THROUGHOUT THE WALL LENGTH.

c. INSTALL A CONTINUOUS ROW OF BRIDGING TO EACH STUD, AT

UPPER-MOST KNOCKOUT, NOT MORE THAN 12 INCHES FROM TOP

OF WALL.

d. DO NOT BRIDGE BUILDING EXPANSION AND CONTROL JOINTS

WITH COLD-FORMED METAL FRAMING.  INDEPENDENTLY FRAME

BOTH SIDES OF JOINTS.

e. AT BRIDGING SPLICE USE 12" U CHANNEL INVERTED OVER

CENTER OF SPLICE w/3-#10-16 SCREWS ON EACH SIDE OF SPLICE.

FLOOR LINE

TOP OF STUD WALL

d

CLIP ANGLE
[MIN. LENGTH = 80%
OF STUD DEPTH (d)]

1 1/2"X1 1/2"x 54mil , 33ksi COLD-ROLLED 
CHANNEL OR PROPRIETARY BRIDGING BARS

2-#8 SCREWS INTO
EACH FLANGE OF
THE CLIP ANGLE

ATTACH ROOF 
TRUSSES TO TRACK 

TOP TRACK, 
SEE SCHEDULE

1/16" MAX 
GAP

JAMB STUD
ASSEMBLY,
SEE DETAIL E

TYPICAL WALL STUD, 
SEE SCHEDULE

BRIDGING, SEE
DETAIL B

SEE SCHEDULE FOR 
CFS STUD SIZE

BRIDGING

BRIDGING

BRIDGING

BRIDGING

HEADER

JA
M

B

JA
M

B

TOP TRACK

BASE TRACK

T
Y

P
IC

A
L 

C
F

S
 S

T
U

D

1'
-0

"
M

A
X

.

F
LOAD BEARING HEADER ASSEMBLIES

CRIPPLE STUD, TO MATCH SIZE 
& GAGE OF JAMB ASSEMBLY

JAMB ASSEMBLY, 
SEE DETAIL G & 
SCHEDULE

14 GA. ANGLE TO SUPPORT 
HEADER, SEE 1J/S-601

HEADER TRACK,
SEE SCHEDULE

HEADER MEMBERS, 
SEE SCHEDULE

CFS INFILL STUD,
SEE SCHEDULE

L

SECURE MEMBERS w/ #10 
SCREWS AT 1'-0" O.C.

E
ANCHORAGE FOR STUDS SUPPORTING CFS TRUSSES

SEE 1K/S-602 FOR 
TRACK ANCHORAGE

TOP OF SLAB

TSN CL600-118 w/ (6) #
12 SCREWS TO STUDS 
& SIMPSON 1/2"Ø 
STRONG BOLT 2 w/ 4" 
MIN. EMBEDMENT

2X CFS STUD, 
SUPPORTING 
CFS TRUSS, 
SEE SCHEDULE

LOAD BEARING CFS 
STUD, SEE SCHEDULE

JACK STUD AND 
CLOSER TRACK 
BELOW HEADER, 
MATCH SIZE AND 
GAUGE OF JAMB 
STUD

600S200-43 WEB 
STIFFENER EA. SIDE  
BELOW EA. STUD 
SUPPORTING ROOF 
JOIST AND EA. END OF 
HEADER.  ATTACH w/6 
#10 SCREWS

NOTE:

HOLDOWN CLIP REQ'D FOR 

ALL STUDS SUPPORTING 

ROOF TRUSSES.

E/K

C
TYPICAL WINDOW HEAD AND SILL

CRIPPLE STUD, TO
MATCH SIZE & 
GAGE OF JAMB 
ASSEMBLY

CEILING LINE

TYPICAL BASE 
ANCHORAGE

INTERIOR

CFS STUD,
SEE SCHEDULE

SIDE

ADDITIONAL ANCHORAGE
AT JAMB, 1 PER STUD

BASE TRACK,
SEE SCHEDULE

SILL TRACK,
SEE SCHEDULE

JAMB ASSEMBLY,
SEE DETAIL E

CRIPPLE STUD, TO
MATCH SIZE &
GAGE OF JAMB
ASSEMBLY

TRACK PIECE AT
OPEN SIDE, SIZE &
GAGE TO MATCH
JAMB ASSEMBLY

HEADER
ASSEMBLY,
SEE DETAIL 
F AND J

HEADER TRACK,
SEE SCHEDULE

CFS STUD,
SEE SCHEDULE

D
TYPICAL DOOR HEAD

CRIPPLE STUD, TO
MATCH SIZE & 
GAGE OF JAMB
ASSEMBLY

TRACK PIECE AT
OPEN SIDE, SIZE & 
GAGE TO MATCH
JAMB ASSEMBLY

JAMB ASSEMBLY,
SEE DETAIL G

ADDITIONAL ANCHORAGE
AT JAMB, 1 PER STUD

BASE TRACK,
SEE SCHEDULE

HEADER ATTACHMENT, 
SEE 1F/S-601 AND 1J/S-601

HEADER
ASSEMBLY,
SEE DETAIL 
F AND J

HEADER TRACK,
SEE SCHEDULE

CFS STUD,
SEE SCHEDULE

G
TYPICAL JAMB ASSEMBLIES

OR

24
" 

O
.C

. M
A

X
.

ATTACH JAMB MEMBERS 
USING 6" SECTION OF 
RUNNER TRACK, 20 GA. MIN. 
USE (8) #10-16 SCREWS AS 
SHOWN.

(2) JAMB STUDS

(2) JAMB STUDS
BACK TO BACK.

ATTACH JAMB MEMBERS 
USING (2) #10-16 SCREWS 
AT16" O.C.

CAP JAMB w/ TRACK (SAME 
SIZE & GAGE AS JAMB) FOR 
WINDOW ATTACHMENT.  
EXTEND 6" ABOVE HEADER & 
6" BELOW SILL CONNECTIONS

FACE TO BACK JAMB ASSEMBLYBACK TO BACK JAMB ASSEMBLY

DETAIL NOT USED

NO WINDOWS 

ON PROJECT

1300 East 6th Street

501.372.2900

Little Rock, AR 72202

cromwell.com

CROMWELL
ARCHITECTS/
ENGINEERS

#5A
R

KANSAS-ENGIN
EER

C
E

R
T

IF
IC

ATE OF AUTHORIZ
A

T
IO

N

PROFESSIONAL
REGISTERED

ARKANSAS

ENGINEER

No. 23092

B
R

I T
T A N I M I T C

H

E
L

L

S T A T E O F

Sheet Number

Sheet Title

Project Number

Issue Date
2024-116

1.  CROMWELL ARCHITECTS ENGINEERS, INC.

     ALL RIGHTS RESERVED

2.  THIS SHEET DESIGNED FOR COLOR PRINTING.  

     CRITICAL INFORMATION MAY BE LOST WITH   

     BLACK AND WHITE PRINTING.

Revisions

Stamp

Notes

CONSTRUCTION 

DOCUMENTS

Design Phase

Project

B
U

IL
D

IN
G

 A
1

4
TO

IL
E
T 

R
E
N

O
V

A
TI

O
N

 &
 

B
R

E
A

K
R

O
O

M
 A

D
D

IT
IO

N
 

E
A

S
T 

C
A

M
D

E
N

, 
A

R
K

A
N

S
A

S

No. Date Description

WALL FRAMING
DETAILS

S-601

11111111−−−−13131313−−−−2024202420242024

11-13-2024

NOT TO SCALE
1 TYPICAL LOAD BEARING STRUCTURAL COLD FORMED STEEL (CFS) STUD WALL DETAILS


